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He admits due to his fear of the witnesses — 57712 XP 237V7 XDIDY2 21N

Overview

There is a dispute regarding 2>7v X2 3"1XY 012 77717, where 27 maintains he is 73,
and YX1W maintains he is 2°°1. The X723 cites a Xn»12 where PwAw 9272 TYHR M
maintains in a case where the defendant saw witnesses approaching and he admitted
to stealing, that the 0°7¥ can still testify and obligate him to pay the 03P 293. The X3
states that even 27 can agree with w"aR", for that case is different, since the only
reason he admitted to the crime is because of his fear that the 07y will obligate him
to pay the 01p. It would seem that in a case where he admitted on his own (there were
no 2°7v approaching), the rule would be that (even) according to w"ax" he is Mo
from 01p, even if 2>7¥ happen to come later. 19010 qualifies this assumption.

mooIn anticipates a difficulty:
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And regarding this which the X773 states in m7pi Av2w P92 that according to

w''aN" -
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We cannot find a case of one to be exempt from 01p, based on his admission,
unless there are no witnesses at all who came later to testify.

mooIn responds:
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That X3 is according to PRI who maintains that in all cases 21 2>y 182 2"1X) DIP2 77X,

Summary
w"2R1 maintains, according to PXWw that 21 0°7v 182 2"'NXY 0IP2 777, in all cases.

Thinking it over
What would be if he is 012 7771 because he saw the o°7¥ coming, however for some
reason the 0>7v did not testify, does he have to pay the 01p?

! However, here the X n3 says that according to w"ax", only if his admission was out of fear for the o7V is he 01p 27,
but if he admitted solely on his own, he will be MW, even if 07y came later. Why therefore does the X3 there say
that according to w"ax", a 01p2 77 will never be 75 unless no 2*7¥ come at all?!

2 This distinction whether the 7y were 1821 Wnwnn or not, is only according to 27 (in order to reconcile 21 with
w"ax"), however according to PRXmw the view of w"ak is that in all cases 2°7v 1R2 3"NXY DIP2 77 is 27,
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